Roll No.

D-3045

B. Com. (Part IIT) EXAMINATION, 2020

(Compulsory)
Paper Third
MANAGEMENT ACCOUNTING

Time : Three Hours | [ Maximum Marks : 75

e

()

[Minimum Pass Marks : 25
T U g § IR AN | TS IS | T T AT
3ifart g | WA Ul & 3 W B

Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
FHE—1
(UNIT—1)
foxira fawor & M0 & wHe § 7 5

What do you understand by Financial Statement ?

FAET I, 2013 & IRTTT B B MRfH Fag B
T IR DI | 10

Represent the specimen of balance sheet of a company

as per Companies Act, 2013.

P.T.O.
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3RIET
(Or)
T HA b A QT MY Sie Rig W o B 15
(i) e &

(if) TR ST
(iii) I FARRAT U
(iv) ol Fe srurd
(v) T e ST
Fre forfics
(amRi® forgT (31 W, 2019 BT FAK B
arel a¥ & forg)
feron A % Q(Tf;
1. 91 U4 ST
1. 3rrenRal a1 [
371 ot 1,00,000
2. TR-41e] a1
FOTT 75,000
3. =] TR 25,000
T (142+3) 2,00,000
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I1. R
1. ﬁ'\’-%ﬂﬁ\ FAIRAT
W FRfEf 80,000
2 iﬂ?[\'ﬂmﬁ'lﬁ ;
RS Wt 4
TTER 70,000
T f§e 10,000 80,000
IDg T4 UDhg o - 3
RG] 10,000 | 10,000
uTRe Fierfer +10,000 | 10,000 | 20,000
wid (Wpa) 20,000
BT (142) 2,00,000

From the following Balance Sheet of a company you are

required to calculate :

(i)  Solvency ratio

(i) Liquidity ratio

(iii) Fixed assets ratio
(iv) Capital gearing ratio

(v)  Absolute liquid ratio

P.T.O.
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Company Ltd.
(Balance Sheet as at 31st March, 2019)

Note No.| Amount
Particulars
)
I. Equity and Liabilities :
1. Shareholder’s Fund :
Share Capital 1,00,000
2. Non-current Liabilities :
Debentures 75,000
3. Current liabilities 25,000
Total (1+2+3) 2,00,000
I1. Assets :
1. Non-Current Assets :
Fixed Assets 80,000
2. Current Assets :
Trade Receivables : 3
Debtors 70,000
B/R 10,000 80,000
Cash and Cash equivalents : 3
Cash 10,0001 10,000
Marketable Securities +10,000{ 10,000 20,000
Stock (inventory) 20,000
Total (1+2) 2,00,000
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FHE—2
(UNIT—2)

Pyt frel & arddhier T 4 TRadt @ SR 7o B
YA fqaRer GaR I

fergt
RN
®)
A U4 &I 2017-18 2018-19
37T ot 4,00,000 | 4,50,000
FTH-8T @l (50,000) 70,000
GRS (10,000) (5,000)
AR T 2,00,000 | 2,10,000
e 2,40,000 | 3,50,000
GRS 1,20,000 | 1,50,000
9,00,000 | 12,25,000
RIIN
®)
TR 2017-18 2018-19
R FRRREl 6,10,000 | 7,20,000
fafamT 50,000 1,30,000
Ile] Frufw 2,40,000 | 3,75,000
9,00,000 | 12,25,000

e PICH H TS R F D AR B ez 3|

P.T.O.
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i T -
() R FERE W T 60,000 F AR TATY
(i) T 40,000 TS Ted BT TP AA ¥ 30,000 § 97 & TF |

From the following Balance Sheets, prepare a schedule of

changes in working capital and fund flow statement :

Balance Sheet

Amount (%)

Equity and Liabilities 2017-18 2018-19
Share Capital 4.,00,000 4,50,000
P&L A/ (50,000) 70,000
Discount on shares (10,000) (5,000)
General Reserve 2,00,000 2,10,000
Debentures 2,40,000 3,50,000
Current Liabilities 1,20,000 1,50,000

9,00,000 12,25,000

Amount ()
Assets : 2017-18 2018-19
Fixed Assets 6,10,000 7,20,000
Investments 50,000 1,30,000
Current Assets 2,40,000 3,75,000
9,00,000 12,25,000

Note : Figures in brackets indicate negative figures.
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Additional information :

D-3045

(i) Depreciation charged on fixed assets was ¥ 60,000.
(ii) A machine of the book value of ¥ 40,000 was sold for

% 30,000.
arar
(Or)
e B @1 faxi Refd 31 A, 2018 T 2019 1 e off

o o R (3)

o ¥ 2018 | 2019
SRR 36,000 | 41,000
WEAS HFA F R0 —| 20,000
@ 9§ ®0 30,000 | 25,000
S v W 1,48,000 | 1,49,000

2,14,000 | 2,35,000
B R (7)
2018 2019
I 1,07,000 | 1,22,000

27,000 [ 36,000

80,000 | 86,000
50,000 [ 55,000
20,000 | 30,000
25,000 | 22,000
35,000 | 38,400

4,000 3,600

2,14,000 | 2,35,000

P.T.O.
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T P IRE T 26,000 AW F WY H Fhal fhy Y|
(AR T TH-3 T sy faf ¥ g q81d fRRuT (AR

I |

The financial position of a firm as on 31 March, 2018 and

2019 was as under :

Amount (%)
Capital and Liabilities
2018 2019
Current Liabilities 36,000 41,000
Loan from subsidiary company - 20,000

Loan from bank

Capital and Reserve

30,000 25,000
1,48,000 | 1,49,000

2,14,000 | 2,35,000

Assets

Amount (7)

2018 2019

Machinery
(=) Dep. upto date

Building
Land
Stock
Debtors
Cash

1,07,000 | 1,22,000
27,000 36,000

80,000 | 86,000
50,000 | 55,000
20,000 | 30,000
25,000 | 22,000
35,000 | 38,400

4,000 3,600

2,14,000 | 2,35,000

During the year I 26,000 were paid as dividends. Prepare

cash flow statement as per revised AS-3 (indirect method).
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FPRE—3
(UNIT—3)
A AT T W e & wHed 5 0 Weue Rl A
e @ A & 7% Ayl SUANT Bl ARy
What do you understand by Marginal Costing 7 State some

of the important applications of marginal costing for
managerial decisions.

3Rra
(Or)
T g & FrHfeIRaT e aifierE SUTeT § -
o GER] T /BT
®) ®
2018 75,000 15,000 (1)
2019 2,25,000 15,000 (cTr4)
T DI -
(i) IM-HE &I
(i) R AN

(ili) T 2018 TF 2019 & fory i aImTd

(iv) w-faws fig

(v) 30,000 P o™ & foly e o A

Following records are available from the accounting records

of Rajesh Traders :
Sales Profit/Loss
Year
) ®
2018 75,000 15,000 (Loss)
2019 2,25,000 15,000 (Profit)
P.T.O.
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Find out :

(i) P/Vratio

(i1) Fixed cost

(iii) Marginal cost for 2018 and 2019

(iv) BEP
(v) Margin of Safety for the profit of ¥ 30,000.
FPTE—4
(UNIT—4)

gote fT=r0r 91 § ? 39 Seed Rl ATl @l aisy |

What is Budgetary Control 7 Point out its objectives and
advantages.

3Rpar

(Or)
U AT FEET B afiE IAET SET 10000 SHEAT E |
37fer @ forg 6000 SHIFAT BT Y Foic f=iifhe B -

PIREER

)

A 50.00

gl (60% UReeie) 10.00

ol & (60% TRadei) 10.00
S g (RR) 5.00
faspd W@ faRo &9 (60% fRR) 5.00

ESRSINE] 80.00

o 20.00

fama qeg | 100.00
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70% TRIT 100% HRITR ®T Ja&fRid $¥d §U dr[aN quc dar
I | T 3 B S 8 6 60% PRGN T@ I 39
fdz qou R W®, 38 q18 90% PRITR Th 5% D HA
BT AFTAE Bl 90% D AR YA 5% B i B foU
219 @ B BT A fbar T B |

A manufacturing company has the production capacity of

10000 units p. a. The expenses budget for 6000 units for the

period are a follows :

Per unit
)

Materials 50.00
Wages (60% Variable) 10.00
Manufacturing expenses (60% Variable) 10.00
Administration expenses (Fixed) 5.00
Selling and distribution expenses (60% Fixed) 5.00
Total cost 80.00
Profit | 20.00

Selling Price | 100.00

Prepare a flexible budget showing 70% and 100% levels of
activity. It is expected that the per unit selling price will
remain constant upto 60% activity, thereafter a 5% reduction
is expected upto 90% activity level. Above 90%
%% reduction in original price is expected for every 5%

increase in volume.

P.T.O.
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TPIE—5
(UNIT—S5)
5. TAwAferae el & Al T 5/ oI faerer S BT
uftT sars wIfaT Ueue o

Z
HHH AT 10 B 200
AUIgY ANTA 40 HUC 40
240

250 PRI & SAET & folv T 51,220 BI 2600 fopum. FFmfy
TN &1 T | 7olgd A (il Hel 891 & SR 10 FfSpy
gUei Pl WA H% §Y 10900 BVEl & folg T 11,881 2T |

From the following information, calculate material and
labour variances :

Standard direct cost per unit :

3
Materials cost 10 kg. 200
Labour cost 40 hours 40
240

For the production of 250 units materials used amounted to
T 51,220 for 2600 kgs. Wage payment I 11,881 for 10900
hours including 10 hours idle due to power failure.

SRIAT

(Or)
YHEIY SATAl W MY T A § ¢ DRYl Hied FES3Y b Ud
3ienfie WM 31§84 arrg & i s Aoy |
What do you understand by standard costs 7 Explain with

reason why an industrial concern should introduce standard
costing system.

D-3045
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